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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or {4} that best completes each sentence.
Then mark the correct choice on your answer sheet.

1-  The police only helieved me after an evewitness ----—---—- my account of the accident.
1) displaved 2) constituted 3) corroborated 4) suspected

2-  The plan is to our -—---—--—-- advantage; we will all benefit greatly from it.
I} concurrent 2) mutual 3) devoted 4y involved

3-  Our organization is committed to pursuing its aims through peaceful ---------- . We totally
rejeet violenee as a means of political change,
1) mcans 2) instrumenis 3) devices 4) gadgets

4- Al parents reccive a booklet which ------—--- the school’s aims and objeetives before their
children start their first term.
1) clarilics 2) injects 3) conducts 4) notilics

3-  Increasing the state pension is a ---------- aim, but 1 don’t think the country can afford it.
1) redundant 2} diverse 3) flexible 47 laudable

6-  The primary aim in sumo wrestling is to knock your ---------- right out of the ring!
I} protagonist 2) opponent 3) reteree 4) beneficiary

7-  The cost of the damage caused by the oil --—--——-- will be around S200 million,
1) spill 2) guilt 3) damerit 4} extenl

8  Most of us - when we hear that many children spend more time watching TV
than they spend in school If's a rather scary thought.
1) withdraw 2) retreat 3] recoil 4) regress

9-  Even though he isn't enrolled right now, Calvin says he will go to college ----——---- 3
1) creatively 2) delicalely 3) sentimentally 4} cventually

10-  You should avoid driving during the snowstorm becausc the icy roads are ---—---—--—-,
1) superlicial 2) Irigid 3) perilous 4} cautious

PART B: Cloze Test

Dircctions: Read the following passage and decide which choice (1), (2), (3), or (4) best 1i6s cach
space. Then mark the correct choive on your answer sheet.

When it comes to visually identifving a work of art, there is no single set of values or
aesthetic traits. A Baroque painting will not necessarily (11) ---—------—- much with a
conlemporary perlormance pigee, but they are both congidered art.
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(12} ———----—— th¢ scemingly indefinable nature ol art, there have always cexisted
certain formal guidelines for its aesthetic judgment and analysis. Formalism 15 a concept
in art theory (13) —--—-------- an artwork’s artistic value is determined solely by its form, or
the way (14) ——---—————_ Formalism cvaluates works on a purcly visual level, (13) --——--
medium and compositional elements as opposed to any reference to realism, context, or
content.
11- 1) share 2) be sharing 3) have shared 43 be shared
12- 1) Although 2) Despile 3) Regardless 4) However
13- 1)that 2) thatin it 3) which 4} in which
14- 1) of it made 2) made 3) how 1t is made 4) it is made
15- D)arc considered  2) considers 3) considering 4) and considcr

PART C: Reading Comprehension

Dircctions: Read the following three passapes and answer the questions by choosing the

best choice (1}, (2), (3), or (4). Then mark the correct choice on vour answer sheet.

PASSAGE 1:

‘The seruin antibodies produce in respense to a particular antigen heterogeneous due to
the presence of multiple B-cell epitopes on protein antigens. Secreted antibodies by
plasma cells circulate in the blood and serve as the effectors of humoral immunity by
scarching out and nculralizing or climinaling antigens. Although the polyclonal
antibody produced in vivo is benelicial to the organism, it has numerous disadvantages
for immunologic investigations.

A variety of pathogenic organisms can be detected as immunogens by the immune
system. It actually recognizes particular macromolecules of an infectious agent,
generally cither protein immunogens, although polysaccharides ranking sccond. In
fact, lipids and nucleic acids of an inlectious agent generally do nol serve ag
immunogens  unless  they  are combined  with  proteins  or  polysaccharides.
Iinmunoglobulins [unctlion as aniibodies, the aniigen binding proleins present on B-
cell membrane. Membrane-bound antibody confers antigenic specificity on B-cells;
antigen-speciftic proliteration of B-cell clones depends on interaction of membrane
antibodyv and antigen,

Lxperimental studies have revealed that the immunogens in humeral iimimmunity tend
to use soluble polysaccharides or protein as inmunogens. However, in cell-mediated
immunity, only proteins serve as immunogens. Although they are not recognized
directly, instead they must first be proceed into small peptides and then presented in
association with MIIC molecules on the membrane of a cell before they can be
recognized as iImmunogens.

16- Multiple B—ccll epitopes on protein antigens can result in --—-——-——- .
I') monoclonal antibodics 2) production ol scrum antlibodics
3) production of cellular antibodics 4) antigenic specilicily on B-cells
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17-

18-

19-

20-

21-

22-

Which sentence according to the passage, is TRULE?

1) Antigens hind to cell membrane of plasma cells.

2) Antigens bound 1o nucleic proleins are present in B lymphocyies.

3) Antigen binding proleiny arc originaied [rom plasma cclls.

4) Binding of antibody and antigen serve as immuncglobulins.

Macromolecules and immunogens recognized by the immune system include -—--—----,
1) lipids, lipoproteins. polysaccharides, and nucleic acids

2) nucleic acids, polysaccharides. protein immunogens, and glyvcolipids

3) protein inununogens, lipids, and polysaccharides

4) lipoproteins, glycolipids, polvsaccharides, and prowein immunogens

From the clause “membranc-bound antibody confers antigenie specificity”, it counld be
concluded that ——-—---——--,

1) antigenic specilicily is consisient with bounded antibody

2) antigenic specificity conflicts with membrane-bound antibody

3) there is no relation between bounded antibody and antigenic specificity

4) membrang-bound antibody prevents antigenic speeilicity

In the ecll-mediated immunity, which of the following items occurs?

1) Pelysaccharides and proteins are not directly recognized.

2} Soluble protcing and polvsaccharides arc detected as immunogens,

3) Peptides and MHC molecules in nucleus are known as immunogens.

4) Peplides in association with MHC molccules arc recognized as inmunogens.

PASSAGE 2:

Aclivation ol leukocyles at sites of antibody deposition resulis in relcasing subslances
by these cells such as reactive oxygen species and lysosomal enzymes that damage the
adjacent tissucs. Antlibodics against Ussuc antigens and unmunc complexes deposited
in vessels induce inflammation by aliracting and aclivating leukocytes. 1 antibodics
bind to cells, such as erythrocytes and platelets. the cells are opsonized and may be
ingested and destroyed by host phagocytes.

Antibodies specific for cell and tissue antigens may deposit in tissues and cause injury
by inducing local inflammation. or they may interfere with normal cellular functions.
Ig G antibodics ol the Ig G1 and Ig G3 subclasses bind (o neutrophil and macrophage
I'c receptors and activate these leukocytes, resulting in inflammation, Some antibodies
without directly inducing tissue injury, mayv lead to a disease which this could be
happened in g spectrum ol discases. In this ling, probable inhibition of the reeeplor
function by the action of antibodies against hormone receptors may be considered. As
an evident. in some cases of myasthena gravis. antibodies against the acetylcholine
receplor inhibil neuromuscular transmission, causing paralysis.

In the process of inflammation, damage to tissues occnrs by releasing all of the following
substances EXCEPT --—---—-—-.

1) Iysozyme enzyme 2) reaclive oxygen specics

3) enzymes of lysosomes 4) inactive oxygen receptors

Which group of blood cclls is safe against the destruction duc to combination of
antibodies with opsonins?

1} Thrombocytes 2} Erythrocytes and leucocytes

3) Red blood cells 4) White blood cells
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23-  Induction of Inflammation can bhe donce through all of the following routs EXCEPT -—--—--- ”
1) antigens deposition in tissues 2) activating and attracting lenkocytes
3) deposition of antigens in vesscls 4) attracting and activating crythrocyics
24- Binding the IgG antibodies to Fe receptors of all of the following leukocytes leads to
inflammation EXCEPT ---—--——- .
1} neutrophils 2) monocytes 3) basophils 4) macrophages
253-  The main cause for paralysis in myasthenia gravis is due to --—-—-——,
1) induction of damage to tissues
2) preventing antigens directly access 1o tissucs
3) motivation ol antibodics against antigens
4) inhibitory cllccel on a receplor [unclion
PASSAGE 3:
It has been shown that the body produces a large number of reactive oxidants such as
hydrogen peroxide. superoxide and hydroxyl radicals. Althongh amongst them the last
seems 1o be the most catastrophic to the tissue causing destruction of the adjacent
cells, The cnzvme supcroxide dismutase has some variants, Onc type 15 found
cxtracellular. Mangancse supcroxide dismutase is located in the mitochondria, And
finally the copper-zinc containing enzyvmes are predominant in the cytoplasm.
The enzyme catalyzing the dismutation of superoxide with a generalized presence in
the body is superoxide dismutase. Hydrogen peroxide as a by-product of this reaction,
is produced which helps to conduit in transmission of the injury caused by frec
radicals,

We know antioxidants as subslances thal prevent the oxidation ol 4 molecule when
presenl al very low concentration. It has the capacity (o nullily the il cllecls of
oxidation caused by free radicals in the living organisms. Free radicals are molecules
that are extremely reactive and either donate or extract electrons from neighboring
molecules that it reacts with. The unpaired electrons of these free radicals are highly
reactive and neutralize the harmiul reactions of human metabolism. Some organisms
such as acrobics have an antioxidant delense system that ncutralizes these [rec
radicals. Both enzvmes and non-enzvmatic antioxidants that play an important role in
scavenging these free radicals are included in this system.

26-  Which one of the following reactive oxidants has the most destructive effects?
1) Hyvdrogen peroxide 2) Hydroxyl radicals and superoxide
3) Hydroxyl radicals 4) Superoxide and hvdrogen peroxide
27-  The enzyme superoxide dismutasc is presentin all of the following sites EXCEPT oo,
[} inside mitochondria 2) nucleoplasm
3) evloplasm 4) among the organclles
28-  All of the following descriptions about antioxidants are true EXCEPT -—----— 5

1) they can be reactive against hydrogen peroxide

2) they can exhibit the oxidation of any molecule

3) they have potential for neutralizing the harmful effects of free radicals
4) they are present in cells and prevent the damage done by oxidative stress
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29-  Which definition about the free radicals is in contrast with the text?

1) They give electrons to the molecules that react with them

2) Act as reecivers of clectrons from ncighboring molecules

3) They exchange clectrons with adjacent molceules

4) As products ol metabolism, their ellcels are aclivaled by anlioxidants
30- Which action is incompatible with the function of the aerobic organisms?

1) Removing free radicals through enzyimes

2) Detecting free radicals via non-enzymatic antioxidants

3) Neutralizing the ill effects of all organisms

4) Nullilication of the resulied [ree radicals
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